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74 Lt ct 494 467 N5.3 961 1,011 5.1
& & ot 5,883 5,259 | A10.6 12,787 | 11,859 AT7.3
(HI EZ 1,457 1,342 AT.9 3,214 3,307 2.9
(& 3) 165 126 | A23.5 353 281 A20.2
(M7t=z=) 662 400 | ~39.6 1,486 981 | AB34.0
(CH ok 1,189 1,005 | A15.5 2,706 2,335 | A13.7
E 7,472 6,504 | A13.0 14,817 | 12,662 | A14.5
E 7,598 6,583 | A13.4 16,755 | 16,911 0.9
F Yo 1,385 1,397 0.9 3,484 3,423 A1.7
Sg=ulelst
C 19 1,276 1,436 12.5 2,624 2,794 6.5
s+ 3 223 299 34.5 472 639 35.3
F D SLES MW SI| HHIY.
@ SHOI A= B2, AJIE2, (J2 A0 EaEUS



Ch. &<
(Er|: BHOF 22f %)
184 28 194 2& SHE
T =
H+E |=8 | U8 (58 | UHTE | =52
1. & H| XY 5,638 282 | 4,984 378 | A11.6 34.0
o= = 514 1 437 11 A15.0 57.4
o &Y Ad|xY 1,542 34| 1,479 34 N4 N0.5
(i) 28 6 21 3| A245| A445
(F= &) 69 2 68 1 A1.6| ~230.2
o i AH|XY 2,008 228 | 1,766 326 | ~15.8 43.0
(I E) 370 23 370 144 A0.0 517.3
(&8%t 756 43 573 51| A24.1 19.0
(=) 13 50 9 30| A35.2| A40.3
(BZEE) 31 0 36 0 15.8 0.0
o H|Lf7L AH|XY 1,484 18| 1,302 16| Al12.2| A13.0
(el &) 731 3 651 2| A11.0| A20.1
2. & Xt A 12,380 | 9,670 | 11,343 | 8,826 N8.4 N8.7
o 7 5,498 | 6,517 | 5,029 | 6,004 N8.5 AT.9
o & = 1,234 A77 1,096 470 | A11.2 A1.5
o 43¢ ¥R 456 167 415 148 NQ.0| A11.0
o 7 X 77 7 68 3| A12.0| A260.8
od v F 190 123 162 105| A15.1 A14.0
o 3 & E 2,307 | 1,436| 2,212| 1,230 AL | A14.4
o M ZH 1,082 450 | 1,053 402 N2.7| 2107
o HIEaZH 707 254 561 254 | ~20.6 N0.3
o Z|Et 830 240 748 211 NQ.9 | A12.0
3. X &2 A 9,227 | 4,524 | 6,899 | 4,041 | A252| ~A10.7
o Z|AFet MUY 4,684 590 | 2,998 521 | A36.0| A11.7
o MI|-™MXL7|7| 3,600 | 3,712| 3,318 | 3,359 NT7.8 N9.5
(HES47]7]) 1,314 611 1,364 409 3.8 A33.0
(HFEZA) 806 | 2,570 730 | 2,552 N9.4 N0.7
o = & Z | 812 204 457 148 | A43.7| A27.2
o 7|E} 132 18 127 13 N42| A31.6
s Al 27,246 | 14,476 | 23,227 | 13,245 | A14.8 N8.5
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A=K &
(B9l : gk =gy)
TO® | ed 28 od o8 o 1’1?;5% 1’1925% e
M A 2,801 2,964 162 6,217 4,084 | -2,133
ol = 154 1,081 927 384 2,022 1,639
o = -2,067 | -1,519 548 -3,968 -2,954 1,014
E U -598 156 754 -1,822 352 | 2,174
s F -1,065 -800 266 -1,867 -2,116 -250
7 Lt Ct -102 —47 55 -217 -86 131
S & of 5,859 5,509 -350 12,155 11,064 | —1,091
(HI E 2,171 2,200 29 4,691 4,261 —431
(& 3 2,868 2,183 -684 6,109 4,246 | -1,863
(Motz=) 168 865 697 323 1,560 1,237
(CH et ~71 105 176 -157 60 217
5 3 -5,591 -5,133 458 | -10,992 -9,877 1,115
E 3,924 2,942 -983 8,149 3,443 | -4,706
E & o] 1,009 186 -823 1,525 484 | -1,040
%(Z’ﬁf %’Z’L —477 —479 -3 -1,076 -772 305
=T d 845 752 -93 1,677 1,642 -35
¥ 3 OSUO0 AFNE B2, AJIE2, (0o A0l ZEEYUS



EXEHEEE &)
1. =& 43X
ot 2=
(BH9] ot 22, %)
T = 18 2€ 19 28l == ;1?;“; 1’1922 =xz
1. A2 2 TR 526 548 41 1,149 1,170 1.9
2. 217 2 oz 4,058 3,507| A13.6/ 8,229 7,595 A7.7
o MRHE 3,495/ 2,933 A16.1 7,030| 6,416 A8.7
3. 43Y ME 2,512 2,591 3.2 5,323 5,405 1.6
o o 7 At 111 106| ~4.2 229 214| ~16.8
o A= 345 332| A3.8 771 718| A7.0
o °o|F 123 118| A3.9 283 267| A5.7
o 1IFEOJo] & &RE 282 286 1.4 555 583 5.1
o = 36 137| 280.5 70 230| 230.9
o B0|F 223 252 13.1 472 484 2.5
4. B33t IUE 36,490| 32,196| A11.8| 77,852| 70,765 A9.1
o 33 E 5,578 5,215| AB6.5| 11,430 10,949| A4.2
o MUME 3,600 3,328 A7.5 7,418  7,178] A3.2
o J|HFet ALY 4,699 4,753 1.1 9,869 9,924 0.6
o MI|-MAHZ 15,269| 12,228| A19.9| 32,162| 25,966| A19.3
(ZHHHME) 537 660/ 23.0/ 1,087 1,310/ 20.5
(MES47(7]) 2,100| 2,130 1.4 4,591 4,590| A0.0
- A+H 838 606| A27.7 1,682 1,264| ~24.8
- FMEAT|7] 1,078/ 1,377| 27.7| 2,528 3,006| 18.9
(Bt = A|) 9,168| 6,976 A23.9| 19,053 14,658 A23.1
- MC|HtO[A 964 447| NB3.7 2,023| 1,028| A49.2
o 4 & & | 6,605 5,849| A11.4| 15,366| 15,051 A2.1
(CE=INE=N} 2,865 2,572| A10.3| 5,352 5,923| 10.7
(AESAHEF) 1,532 1,585 3.5/ 3,229| 3,344 3.6
(M gh 1,801 1,243 A30.9| 5,921| 4,872 A17.7
s A 43,586| 38,843| A10.9| 92,553| 84,935 A8.2
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Lt =JHXIS)E

(B9 : HOr =, %)
T = |'18dA 2& |'194 2¥ ’1..85 ’195
=zt | 172¥ 1728 =7t2
M= 43,586 | 38,843 | A10.9 | 92,553 84,935 A8.2
o 2 4,631 5,263 13.6 9,399 11,217 19.3
d &= 2,368 2,292 A3.2 4,995 4,914 A1.6
E U 4,265 3,908 N8.4 8,724 9,346 7.1
s F 822 611 | A25.6 1,510 1,324 | A12.3
I 384 450 17.2 694 890 28.3
= & of 11,848 | 10,431 | A12.0 | 25,482 22,365 | A12.2
(HE 3,593 3,526 A1.9 7,743 7,386 A4 .6
& 3) 3,024 2,272 | N24.9 6,787 4,499 | A33.7
(M7tz=) 989 976 A1.3 2,162 2,369 9.6
(CH 2h 1,087 1,031 A5 2,497 2,378 A48
s 5 1,767 1,285 | ~27.3 3,547 2,732 | A23.0
E 11,295 9,255 | A18.1 | 24,374 20,156 | A17.3
E = 2,339 1,859 | A20.5 4,758 3,860 | 218.9
%(Eg'af Fog)@ 809 836 3.3 1,464 1,745 19.2
s+ 3 1,026 1,019 A0.7 2,037 2,053 0.8
= D z2s2 MY SJ| OH E2S.
@ SHOI AXNs B2, AJIE2, (129 AN ZSHUS



2. 2SN &
(Er9l - BipE =gy)

T 2 |'8d 2¢¥ 194 2% — 1’1?;{% 1,1922 E———
M Al 1,864 2,371 507 5,025 3,432 | -1,593
o = 103 909 806 -60 1,585 1,645
o =2 -2,145 -1,507 638 | —4,003 -2,931 1,073
E U -739 159 898 | -2,000 749 2,749
s F -1,033 ~737 296 | -1,952 -2,046 —94
74 Lt Ct -110 -17 92 -268 -120 147
= ot 5,965 5,172 -793 | 12,695 10,506 | -2,189
(HIES 2,136 2,184 48 4,529 4,079 -450
(2 2 2,859 2,145 -714 6,434 4,218 | -2,217
(A7tz=) 326 576 250 676 1,389 713
(CH 2h -102 26 128 -209 43 252
E -5,705 -5,219 486 | —11,270 -9,930 1,340
E 3,697 2,672 | —1,024 7,618 3,245 | -4,374
e = 953 462 —491 1,274 437 -838

%(Z‘ﬁllj %‘6; -468 ~601 -133 | -1,160 —1,049 111
s+ 3 803 719 -84 1,565 1,414 —150

x = OSHOL AR BB, AJIE2, (0o AXN0| L



